QUADRATe    (by Joe Erdeky, erdeky@inbox.com)

This Program is for the novice user of the TI-89, or anyone who does not want to search for commands built into the TI-89.  The Program graphs Y = AX^2 + BX + C and solves AX^2 + BX + C = 0. 1. The GRAPH shows the intercepts and vertex allowing you to move from point to point using the arrow keys, 2. The vertex (H, K) is given as well as the form Y = A(X – H)^2 + K.  Also given is the focus. 3. The SOLUTIONS display in radical or decimal form as necessary. 
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